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Unbalanced Power System Analysis in Railroad System Using PSCAD/EMTDC

Hansang Lee’, Gilsoo Jang', Hanmin Lee”
‘Korea University, "Korea Railroad Research Institute

Abstract - This paper proposes a method for
estimating unbalance in electric railroad system.
PSCAD/EMTDC  models for voltage unbalance
analysis of electric railroad system that transfer
electric power through Scott transformer from
KEPCO's 154kV transmission line are developed. In
order to verify model's wvalidity, we compare
simulation results with simple calculation results.
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